


















PARTS LIST
DRAWINGDESCRIPTIONPART NUMBERQTYITEM

312" SIGNATURE 
ALUMINUM PANEL

P1-P14112 ft1

4-53 1/2" 30ga STEEL 
ROOFING SHEET - ORANGE

P15-P28, P31 & P32142 ft2

43 1/2" 30ga STEEL 
ROOFING SHEET - BLACK

P29 & P3037 ft3

624" 30ga STEEL ROOFING 
SHEET - ORANGE

P33-P3956 ft5

624" 30ga STEEL ROOFING 
SHEET - BLACK

P4019 ft6

7BACK TO BACK 9' X 2" X 2" 
X 1/4" 
ALUMINUM ANGLES

P4127

7BACK TO BACK 7' X 2" X 2" 
X 1/4" ALUMINUM ANGLES

P4228

7BACK TO BACK 6' X 2" X 2" 
X 1/4" ALUMINUM ANGLES

P4349

1

1

2

2

3

3

4

4

A A

B B

Fisheries and Oceans                     Pêches et Océans 
Canada                                            Canada
 
Canadian Coast Guard                 Garde côtière canadienne
Central & Arctic Region                   Région du centre et de l'Artique
 
Maritime and Civil Infrastructure (MCI), Integrated Technical Services
520 Exmouth St., Sarnia, ON  N7T 8B1

FILE No. SCALE: DWG No.

Rv. DATE DESCRIPTION DRAWN APP'D

0    14  JAN 13  DRAWING INITIATED                                              E.J.G.       R.C.S.

N.T.S.

4800 MM REAR DAYMARK

0

PARTS LIST AND STRUCTRUAL NOTES

NOTES:
SIGNATURE ALUMINUM PANELS REFER TO CUSTOM MADE 12" ALUMINUM PANELS
FROM SIGNATURE ALUMINUM IN PICKERING, ON
ALL 3/8" x 1 1/4" CAP SCREWS TO BE STAINLESS STEEL OR CADMUIM COATED
UNSPECIFIED SCREWS REFER TO 10-16 X 3/4" SELF TAPPING HEAD HEX SCREWS 
FRONT DAYMARKS ARE CONSTRUCTED THE EXACT SAME, BUT THEY 
SHALL BE INSTALLED INVERSE TO WHAT IS SHOWN IN THESE PLANS
MOUNTING TO TOWER WILL BE SITE SPECIFIC
DAYMARK TO BE ASSEMBLED IN TWO SEPARATE PARTS FOR EASIER
TRANSPORTATION AND/OR INSTALLATION 
 



1

1

2

2

3

3

4

4

A A

B B

Fisheries and Oceans                     Pêches et Océans 
Canada                                            Canada
 
Canadian Coast Guard                 Garde côtière canadienne
Central & Arctic Region                   Région du centre et de l'Artique
 
Maritime and Civil Infrastructure (MCI), Integrated Technical Services
520 Exmouth St., Sarnia, ON  N7T 8B1

FILE No. SCALE: DWG No.

Rv. DATE DESCRIPTION DRAWN APP'D

0    14  JAN 13  DRAWING INITIATED                                              E.J.G.       R.C.S.

N.T.S.

4800 MM REAR DAYMARK

152 mm
[6 in]

292 mm
[11 1/2 in]

1511 mm
[59 1/2 in]

343 mm
[13 1/2 in]

2261 mm
[89 in]

P15

P16

P17

P18
P19

P20

P21

P22

P23

P24

P25

P26

P27

P28

688 mm
[27 1/8 in]
(TYP)

MAIN VIEWS

1

P31
(TYP)

P32
(TYP)

114 mm
[4 1/2 in]
(TYP)

P33

P34

P35

P36

P37

P38

P39

1397 mm
[55 in]
(TYP)

89 mm
[3 1/2 in]
(TYP)

P29
(TYP)

 

P30
(TYP)

 

P40



1

1

2

2

3

3

4

4

A A

B B

Fisheries and Oceans                     Pêches et Océans 
Canada                                            Canada
 
Canadian Coast Guard                 Garde côtière canadienne
Central & Arctic Region                   Région du centre et de l'Artique
 
Maritime and Civil Infrastructure (MCI), Integrated Technical Services
520 Exmouth St., Sarnia, ON  N7T 8B1

FILE No. SCALE: DWG No.

Rv. DATE DESCRIPTION DRAWN APP'D

0    14  JAN 13  DRAWING INITIATED                                              E.J.G.       R.C.S.

N.T.S.

4800 MM REAR DAYMARK

P43 (TYP)

3/8" x 1 1/4" CAP SCREWS
CONNECTING P33 TO P31/P32 

(TYP)

1549 mm
[61 in]

140 mm
[5 1/2 in]

140 mm
[5 1/2 in]

REAR ASSEMBLY INSTRUCTIONS

2

279 mm
[11 in]
(TYP)

51 mm
[2 in]

305 mm
[12 in]
(TYP)

114 mm
[4 1/2 in]
(TYP)

140 mm
[5 1/2 in]

25 mm
[1 in]
(TYP)

3/8" x 1 1/4" CAP SCREWS
CONNECTING P24 TO 
ALUM SHEETS (TYP)

P41

P42

P1

P2

P3

P4

P5

P6

P7

P8

P9

P10

P11

P12

P13

P14

 
 


	4800.0
	4800.1
	4800.2
	4800.3
	4800.4
	4800.5
	4800.6
	4800.7
	4800.8
	Quebec Tower Set - Reduced.pdf
	08733-01 08733-01 (1).pdf
	08733-02 08733-02 (1).pdf
	08733-03 08733-03 (1).pdf
	08733-04 08733-04 (1).pdf
	08733-05 08733-05 (1).pdf
	08733-06 08733-06 (1).pdf
	08733-07 08733-07 (1).pdf
	08733-08 08733-08 (1).pdf
	08733-09 08733-09 (1).pdf
	08733-10 08733-10 (1).pdf
	08733-11 08733-11 (1).pdf
	08733-12 08733-12 (1).pdf
	08733-13 08733-13 (1).pdf
	08733-14 08733-14 (1).pdf
	08733-15 08733-15 (1).pdf
	08733-16 08733-16 (1).pdf
	08733-17 S-0617 (1).pdf
	08733-18 S-0618 (1).pdf
	08733-19 S-0019 (1).pdf
	08733-20 8733-20 (1).pdf
	08733-21 S-0621 (1).pdf
	08733-22 08733-22 (1).pdf
	08733-23 08733-23 (1).pdf
	08733-24 08733-24 (1).pdf
	08733-25 08733-25 (1).pdf
	08733-26 08733-26 (1).pdf
	08733-27 08733-27 (1).pdf
	08733-28 08733-28 (1).pdf
	08733-29 08733-29 (1).pdf
	08733-30 08733-30 (1).pdf
	08733-31 08733-31 (1).pdf
	08733-32 08733-32 (1).pdf
	08733-33 08733-33 (1).pdf
	08733-34 08733-34 (1).pdf
	08733-35 08733-35 (1).pdf


